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Past Exam Questions

Section 8.3
1. If  
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 is the smallest positive angle between the vectors 
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Answer: 
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2. Given the vectors 
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. If the vector  
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 is a unit vector in the opposite direction of 
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, then 
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Answer: 
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3. Given the vector 
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a. Find a unit vector e in the direction of u
b. Find the “dot product” 
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c. Find the angle 
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 between u and v.  
Answers: 
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4. Find the horizontal and vertical components of the vector v of magnitude 
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 meters with direction angle 
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. [Write your answer in simplest form].  
Answer: 
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5. The smallest positive angle between the vectors 
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Answer: 
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6. Given that a vector v with 
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 and direction angle 
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, the vector w of magnitude 2 and in the opposite direction of v is  
Answer: 
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7. If 
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 is the measure of the smallest positive angle between the vectors 
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, find the exact value of  
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Answer: 
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8. Given 
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Answer: 
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9. Given the vectors 
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, find:
a) The dot product 
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b) The magnitude of u and v

Answer: 
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10. Given the vectors 
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a) Find a vector of length 3 in the opposite direction of the vector u.

b) Find the measure of the smallest angle between the vectors u and v

Answer: 
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11. If  
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 is the direction angle of 
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 then find 
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12. The angle between the vectors 
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 and  
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A) 135
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B) 150
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C) 60
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D) 180
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E) 120
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